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INTERMEDIATE PART-TI (12 Class) | 2023 (1°A) | poune:_ /[ [/ éif ~
PHYSICS PAPER-II  GROUP-1 ) B ;
TIME ALLOWED: 2.40 Hours | SUBJECTIVE MAXIMUM MARKS: 68 |

NOTE: Write same question number and its parts number on answer book, as given in the question paper.

SEC IIGN-I 3 3

2, Attcmpt any eight parfs. — B §Xx2=16
(1} | State Gauss's law, | (i) | What is the function of ECG?
{ﬂ Do eleetrons tend to go 1o 1e regmn nt high pmcnual or of low pmcnndj? I

{iv) Draw g - teurve for charging process and from this curve define capacitive time constant.
{(v) | Delinc tLS-]ﬂ and write relation belwecn lmh and (auss.
v} | Why a vo oltmeter is alwavs f.umwech:d in paralel in cireuit?

(i) | If tht: lt.njbth of the sol Enc::-ni is doubled by Rccpﬁlg nmnbcr of turns wn&tam

{11:1} Ifa -:hdrgn,d particle moves i a stral ght line 1hmug,]1 SO1M¢ rcgmn of q}‘ace
| |canyousay that magnetic ficld in that region is zero?
(ix) | Name the six quarks. | 1\] What is the function of dmlmuh.r”
(xd) | What are isolopes? What do they have in common and what their differences?
(xii)  Discuss the advantages and disadv antages of fission power from the point of safel ‘r
pollution and resources. -
3. Attempt any cight parts. §X2=16 |
(i} o hends in a wire affect its electrical resistance? L\plﬂm
(i} | Describe a cireuit which will give a continuously varying potential, !
[iii) “What is a series resistance cirenit? How would equivalent resistance be caleulated 1 in *-,Ll.Lh circuit? ,
i (iv) | A sinusoidal current has rms value of 10A. What is meximum 01‘_13:.&1\ value?
| {v) | How the reception of'a particular radio station is selected on your radio sct?
| (vi) | 1-F‘n*'h,.:ll is power faclor ol'a pure  {a} resistive circuit (b} inductive cireult?
{vit) | Wha | 1s meant by strain enerpy? How can it be deermined from foree- ~extension grash!? ]
C(viit) Huw v-.m:ld vou justify that Young's modulus of fluids is 7ero? |
(ix) | How existing view of magnetism forbids presence of an isalaled ‘Tlng fie pole?
L x) Why ordinary silicon dicdes do not emit light?
{xi) | Draw circuil diagram of half wave rectifier and its output waveform for smv&.md'ﬂ 1nput
{x11) | Delire open loop mfnlidgL gain of an operational amplitier.
- What is its value for a typical operational amplificr? _
| 4. Attempt any six parts. i 6X2=12
(i) | Ls it possible to change both the area and the magne’rc tield passing through
the loop and still not have an induced emf in the loop?
(11) | Can & siep-up L‘raml"nrmer increase the power level?
(iii) | Why self induced emf is also called as back emi? - i
(iv) | A heam of red light and a heam of blue light have exactly the SAME Cnerey,
o __E.ihll,l_}_. bean conlains the grealer number of lJll_t_JLDIJE.’
{ﬂ Why don’t we - observe a Compton effect with visible Ii pht?
 (vi) | Describe the dual nature of energy and matter.
(wit}) | Which has the lower energy qmnm‘? Radiowaves or X- nw'a"’
(viil) | Why Neon is mixed with Ilelivm in Ne —Ile laser?
(ix) | What do we mean when we say that the atom is excited?
SECTION-11 o -
| NOTE: Attempt any three questions. Ix8=24
| 5.(a3 | Derive the relation for capacitance of paraliel plate capacitor and heme define dieleclric ¢ mmtanr 3

(b} | A platinum wire has resistance of 10€ at 0°C and 200 at 273°

Find the value of temperature co-efficient of resistance of platinum, ot _gemy 3
6.(z) | Drive an expression of force on a moving charge in a magnetic field. 5
(hy | A qumre cail side 16cm has 200 turns and rotates in a uniform magreiic Geld of magnitude 0, 05T,
It the peak emf is 12V, What is angular velocity of cail? 3
7.(a) | What is rectification? Draw diagram and explain working of +ull W EW(: rectifier, 5
{b} | Find the value of the current and inductive reactance when A.C. voltage of 220V at 50Hz is passed
through an mductor of 10H. . 3
8.(a) | What is photoelectric effect? 1Tow ils different resulls were ucceasfudw explained by Linstein? 2
(b} + A 1.0m long copper wire is subjacted to stretching force and its lmglh inereases by 20em.
Calculare the tensile strain and the percent elongation which the wire undergoes, 3
G(a)y | What iz mass defect and binding energy? Draw Lhe graph between binding f_:nug', er - nueleus and
. nucleus number. Also explain this curve. 5
{b) Electrons in an X-ray tube are accelerated through a potenrial difference 3000V, If these electrons |
are slow down in a target, what will be the minimum wavelength of X-rays produced? =2

19- 3'[]2?{]5[ AJ25000 (MULTAN)
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CINTERMEDIATE PART- (12" Class) | 2023 (F-) | RollNer___— i
PHYSICS  PAPER-II  GROUP-II S
L EIME ALLOWED: 2.40 Hours SUBJECTIVE | MAXIMUM MARKS: 68

NDTF “J‘r rite same question number and its parts nember oo answer book, as given in the question paper.
- sECTION
' 2. Attempt any eight parts, S 8x2=16

(i}  Suppose that vou follow an electric field line due to a positive point charge.
Do electric field increase or decrease? o
{1} | T’Fa point charge ¢ ol mass m is released in a non-u niform field with field lines

! . pointing in the same divection, will it wake a reetilinear molion?
(iii) | Show that ohms times farad is cquivalent to second.

| (n.] | What is a test charpe? Wrile ils any lwo characteristics,

(v} | How can you usc a mag: 1elic |1f:‘ll:.. lo separate isotopes of l.hl.,mn.,al q,lcmcnl?

{vi) | Why the resistance of an Ltmmemf should be very low?

| {vii) | Define Lorentz force. Write role of each component ol this force.
L (viil) | A proton enters this page from left to right while maguetic field is out of the page.
Prove that it will be deflected tawards botlom of page.

fix) | W hat ﬁu,m:‘:-_, make fusicn reaction duh;_,ulL to achieve?
{x) | Whatisa radmaume wacer? Describe one :i]'ll}'ll]:L.-Jl.h".'T'l in medicine.

(xi) | What are leptons? Name al least two Jeptons. | (xii) Define nuclear ac livity. Write ]n ST unit.
3. Attempt any eight parts. . 8§x2=16

(i} Is the filament resistance lower or higher in ;llﬁlfJffﬁ" 220 light bulb than in a LOOW, 220 bulb?

(it} | How the bndg, eircuit is used to dt;_tmmm an L.rlcm:-u n resistance?

| {iii} Why heat is produced in a conductor due Lo J{m of electric curent?
(1v) | Deseribe amplitude modulation with dmg] . B .
(vl l"k seribe the condition which wﬂ] mike the reactance of capacilor small. '
{vi) | Deseribe two advantages ol a 3phase A.C. aupply.

L {vil) T)Lf‘ferenwﬂﬂ between cry stalline and amorphous solids,

(vili} | Draw stress-strain curves for ductile and brittle materials,

(x) | How van the wnduuiwrh of a SCIHI“M]HdLlul[JT he raised?

) | The anode ol a diode i3 0.2 2 volts pusitive w ith respeet to 1is cathode. Ts il forward biased?
|['<i} What is the bm'-ﬂ"ig requirement of Lhu Junctions of a tansistor for s normal operations?
| (xii) | What is importance of use of a semi-conductor in elecironic cireuils? Fxplain,

4. x‘ki‘tcln]]' t any six purts. - 6x2=12 |
(i} | How can the spectram of hvdm 2€n contain so many hm =; when ]13,':11"0%3:1 confain one electron?

J_z | Wil brlght lEl t ¢ject more clectrons from a metal surface than dimmer light of same colour?

| (iii) | Why don't we observe Comipton effcet with visible Haht? o
(1v) | Canan zlectric molor be used to drive an eleciric penerator w rith the output from
aenerator being used to operale the motor? -
(¥) | Ina certain region the carth’s magnetic field point vertically downward.
When a plane flies duc north, which wingtip is positively charged?

|
I
vi) : . ; i, : A o ‘
{ What is the importance of minus siun in the expression? 5 —2 ¢
At

A vii) | Whal is threshold irwucm} :11110 nﬂlcctua. elfect? - -
__{vm"]_ What do vou mean by rlT'l‘E]lhl]éltlDﬂ_ ofn matter? () | Write down two postulates of Bohi’s theory,
SECTION-II

NGTL Attempt any 1 any three queslmm - : 3x8= 24
B (a)  Whal ; is Wheatstone bridge? Explain and plhn ¢ the i EEE]E_“i W _h':&mt@ﬂ( bridge. -

oA
(b) | Determine the electric field at the postiion ¥ & {’11 + 3/ )in caused hy a point ohafgl
ﬂ = 10 C pIdCLd at origin,
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| amplifier and find its gain. | o 3
{b) | A 10mir, 200 cotl is connected across 240V and 1!5&, Hz saurge.
- How much power does it dissipate? . . _ 8
8.{a) | Derive an expression for strain energy in deformed naterial. o 5
|_(b) | Whaiis the de Broplie wavelength of an electron u,huar.. kinetic enerﬂ}-’ is 120 eV. 3 |
| 9.(a) Wiite postulates al Huhr s Model. Prove 1tw=|, mdn and energy Etmn is qumm::ed in hydrogen alom, 5

(b} | Find the mass defeet and hlndmg energy for tritium. If the atomie mass ol tritium is 3016049 1,
Mass of neutron — 10086631, Mass ol proton = 1007276 17, Mass of electron = 0.00055 17 3
20-2023¢17-A)-20000 (MULTAN)




| Paper Code 2023 (17-A) o
Number: 4471 INTERMEDIATE PART-II (12" Class) ‘ Roll No:
'PHYSICS  PAPER-II GROUP-I
TIME ALLOWED: 20 Minutes OBJECTIVE

MAXIMUM MARKS: 17

_Q..\Tn.l You have four choices for cach objective type « ]ueitinn as A, B, C and 1), The choice which you think

is correct, fill that bubblc in Iront of that question number, on bubhkle sheet, Use murler or pen lo
fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question.
| S QUESTIONS A i C D
1 | The concepl ol an ¢lecinc lield was Henry I'araday Woatl Oersted
intreduced by:
2 | Llectric field intensity due 1o an 2o f = e I ; o
e : ; B=i— 0 k= E=
infinite sheet of charge 15: 2 2 o
31 The value of drift velocity of clecirons 107 s 10° ™ 160 “ e 102 ms™
is of the order ol
4 Formula for shunt resistance R, is: per o | gl T L
e, R TN S
"5 Volmeler is connected in the Perpendicu laar F’ural:lé:l Serles Anti parajlel_'
circuit in: =
6 lhe }i]‘inc‘ipln‘: of an A.C. generator is Mutual Lenz's law Sclt Faraday’s law
bhasc on: ' Induction induction of
eleClromagnetic
induction
1 - - -
7 When the motor is just starled, back Becomes Decreascs Remains Increases |
emf always: ZETU same
8 Rool mean square value ol b ¥ . i i Ko
an alternating vollage is: J2 S8 9 2 '
9 Power d.i..-':;si]:rated in a purc inductor is: Zero [nfinite Small Maximum |
? L —
10 The value of patential barricr lor 03 {1 7V 0.9F
silicon at footn temperature is:
11 The ratio of impurily addition in 1o 10° 1 to 107 L to 1Y L to 10"
an inlningic senti¢onductor 1s:
12 | SI unit of current gain of transistor is: Coulomb Ampere N unit Farad
13 | When plalinum wire is heated. it 500° 900° ¢ oo 1300t |
appears cherry red al lemperanie:
14 | A photocell is base on: Phatoelectric | Polarization Time Compten effect '
elleet dilation
15  Normally an clectron can reside in 1075y 1075 10 5 10 %s
excited state for about:
|
16 Dead time of the counter is: B 10 e I T
17 The building blocks of protons and (Quarks Iilectrons Protons Tans
neutrons are called:
19(0b)HTE)-2023(17-A)-25000  (MULTAN)



-
[ Paper Code 2023 (17-A) . -
TE ATE T- Clas: Roll Mao:
Number: 4473 | INTERMEDIATE PART-II (12 a88)
PHYSICS  PAPER-II GROUP-I
TIME ALLOWED: 20 Minutes OBJECTIVE MAXIMUM MARKS: 17
i ().No.1 | You have four choices for each objective type question as A, B, C and D. The choice which you think
is eorrect, fill that bubble in front of that question number, on hubble sheet. Use marker or pen to
| 6ill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question,
s QUESTIONS A B C D
1 | Root mean square value of ¥ B o5 K.
an allernating voltage is: Tz NE) £ 2
2 | Power dissipated in & purc inductor is: Lern Infinite Small Aaximum
3 | The value ol potential harmier lor 0.3 0.5k 0.7F 0.9¥
silicon &t room lemperatire is:
4 Theratio of impurity addition in 1 to 107 T to 107 | to 107 {10 10°
an intrinsic semiconductor is:
5 Slunit of current gain of ransistor is: Coulomb J-*smp?'fé - N unit Farad
6  When platmum wirc s heated, il 500°C 900°¢ 1100°C 1300° C
appears cherry red at temperature:
7 A photocell is base on: Photoelectric  Polarization Time  Compton effect |
cifect dilation
8  Normally an electron can reside in 107 s 10 s 10 5 10 *x
excited state for about:
9 Dead lime of the counter is: #-10"s 10785 - ~10 Ts
10 The buildihg_hlﬂck:-i of protons and Quarks Elcetrons Prutons lons
neutrons are called:
| s
' 11 The doncepl of an clectric fizld was llenry | _Fiarada:,-' Watl Oersted
introduged by !
12 Eleciric Geldintensity due to an 2er E =2z , fog R ¥
: : e &= 2 k= ==
mfinite sheet of charge is: & 7 o
13 The value of drift velocity of electrons 107 s ™ 107 ms 107 ™ 107 ms
15 of the order of:
14 Formula for shunt resistance Rﬁ. s R, = e R _ P = =, R 7, oF &
-4, =7 I IR,
13 Voltmeter is connected in the Perpendicular | Parallel |  Secries Anti parallel
circuit in:
16 | The pn’ncj'plc of an A.C. penerator is Mutual Lenz’s law Self Faraday’s law
| base on: Induction induction of
clectromagnetic
mduction
17 | When the maotor 15 just started, back Beeomes Decreases | Remains Inereascs
emf always: FETO zame
I

1900 REREH-2023(1%-A)-25000 (MULTAN)
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2023 (1°-A)

F'Puper Code
Number: 447 1 | INTERMEDIATE PART-II [12“' Class) 1toll No:
| PHYSICS  PAPER-II GROUP-I

TIME ALLOWEID: 20 Minutes

OBJECTIVE

MAXIMUM MARKS: 17

().No.1 | You have four choices for each objective iﬂm guestion as A, B, C and D. The choice which you think

is correet, [ill that bubble in front of that question number, on bubble sheet. Usc marker or pen Lo
fill the bubbles. Cutting or filling two or more hubbles will result in zero mark in thai question.

St | QUESTIONS A B C D
I | The concept of an eleciric field was Henry Faraday Watl Oersted
intraduced by:
2 | Electric field intensity due to an E e =l g & =T
infinite sheet of charge is: T T ag "
3| The value of drift velocity of electrons | 107 ms ' 10° ms 107 ms ! 10 Ty
15 of the order of!
4 Tormula for shunt resistance R is: gz teog | g b e g el
= B B iz IR,
5 Voluneter is conneeted in the Perpendicular F‘urallic[ Series Anti parallel
cireuil 11
| 2 - >
' 6 The principle of an A.C. generator is Mutual Lenz's law Self Faraday’s law
basc on: Induction induction of
clectromagnetic
' induction
i . SrE———
7 When the molor is just started, back Beoomes | Decreases | Remains Increases
cint abways: FETO SamC
|
8 Root mean square value of y v, : p? v,
| an alternating vollage 15! 2 V2 3 2
9 Power dissipated in a pure induelor is: ~ Zero Infinite Srmall Maximum
_.' e ; | B
10 The yalue of potential bartier for 3 | “m O5F 0.7V 0.9)
silicon al foom temperature 1s;
11 The ratio of impugity addition in [ to 107 1to 107 10107 Lo 107
an Intrinsic semnicenductor is:
12 ST unit of current gain ol transistor is: Coulomhb Ampere No unit Farad
T13  When platinum wire is heatdd it . | s00°C 900" ¢ 1100°C 1300° C
appears cherry red at lemperature:
14 A photnc_ell 1s base on; Photoelectric Polanzation Time Complim effeet |
elMect dilation
|3 Normally an electron can reside in 107y E 107" 4 , 107" 1078
exciled state for about: -
16 | Dead time of the counter is: 107y 107 10 45 ~10 %y
17 | The building blocks of protons and Quarks Electrons Protons Tons
neutrons are called:
LO(ObIIT-2023(1%-A)-25000 (MULTAN)
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| Paper Code

Number: 4473 |

PHYSICS PAPER-II GROUP-I
TIME ALLOWED: 20 Minutes OBJECTIVE

2023 (17-A)

INTERMEDIATE PART-II (127 Class)

Raoll No:

-~

MAXIMUM MARKS: 17

You have four choices for each objective Lype i]u:-stiun as A, B, C and D. The choice which you think

Q.Mo.1
is correet, fill that bubble in front of that question number, on bubble sheet, Use marlier or pen o
fill the bubbles, Cutting or filling two or more bubbles will result in zero mark in that question.
S8 | QUESTIONS A B C D ]
1 | Rool mzan square value of b v Pz K
ar alternating voltage is: \-E J2 A 2
2 Power dissipmcd in a pure inductor 13: i Zero [nlimite Small Maximum
3 The value of potential barrier for 0.3 0.51 0.7V 0.9¥7
silicon at room lemperature is:
4 | The ralio of impurily addition in I to 10° | to 107 1w 107 o 10°
an intrinsic semiconduelor 1s:
5 | ST unit of current gain of transistor is: Coulomb Ampere No unit Farael
6 | When platinum wire is heated. 1l SO0 007 ¢! 11007 | 13007
appears cherry red at temperanire:
7 | A phatocell is base on: Photoeleetric | Polarization | e Compton ctfect |
cllect dilation
|
8  Normally an electron can reside in 195 I 10*s 107 5 10 %5
excited state for about:
9 ead time of the counter is: =107 % ~107"¢ ~107%y - ~10 g
10 | The building blocks of protons and . Quarks Electrons Protons [ans
‘ neulrons are called:
‘ 11 [ 'The concept of an electric fitld-was Henry Laraday Wall Ocrsted
introduged by:
12| Electric field intensity due to an p 2o E~los, _© i
infinite sheet of charge is: g T2 s
13 | The value of dfilt'velocity ol clectrons 107 s 107 mag ™ 1073 ™ 10 Pmg !
is ol the order of:
7 " R IR R [ F -1 f—r
L4 | Formula for shunt resislance R, 1s: - g | ge—rtig | g iR I
=0 R 2k B T TR LR
3 Voltmeter is connected in the Perpendicular Parallel Neries Ant ‘pal‘allcl_
circuit in:
16 The principle of an A.C. generator is Mutual | Lenz’s law Sell Faraday's law
hase on: Induction induction of
clectromagnciic
mduction
17 When the motor is just started, back Becomes Deereases Remains [nereases
eml always: ZEro SAMC

19(0bi) (e TT)-2023(1A)-25000 (MULTAN)
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Paper Code 2023 (15-A) '
Number: 4472 INTERMEDIATE PART-TI (12" Class) Roll No:
= |

PHYSICS PAPER-II GGROUP-II

TIME ALLOWED: 20 Minutes

OBJECTIVE

| MAXIMUM MARKS: 17

(3.No.l | You have four choices for each objective type question as A, B, C and D. The choiee which you think
is correct, fill that bubble in front of that qucstion number, on bubble sheet. Use marker or pen to
e fill the bubbles, Cutting or filling two or more bubbles will result in zero mark in that question.
S# QUESTIONS A B C D

1 | Ila pr.m ive charged particle of mass "m" qﬁ' E
is projected parallel 1o uniform electric fero ? gm E q_m

| field £. The acceleration of tie particle is;

2 | A 3KC resistor is connected in series with | i
a capaecitor of capacitancs 2mF. The time | sec 3 sece fi sec | 1,33 sec
constant for capacitor Is: '

3 If no fourth band is present on a carbon = 20% ' 0%
resistor then its tolerance will taken:

4 To display the given voltage along V—axis | X —plates ; Anades of
on C.R.O, comected te it: ul C.R.O. C.R.O.

5 If we wanl 1o increase the measuring raﬁga
ol voltmeter, the series high resistance _ssbedpercased Zero
value should be: :

! _ . - : e,

6 | The divection of induced current 18 : Faradayv's Lenz's law
is determined by: Fewy

7 | For alternating current g a cireuit | Resistor Capacitor Rectifier
inductor behaves likglss,

8 | Metal duetectorss tof RLC scries | L - C circuit

r ; eireuit
9 At high J"req Pure
| shows the beh inductive | R —C cireuit | capacilive
circuit | circuit

10 | High temperature PR C conductors hav MK TTK 125K 163K
critical temperature greater than:

LI | In, Op-amp as a oIl parid V o=+ .L p F_o=0 Fo==F. Vo=w
then at the output we get:

12 | The ST unit of current gain are: Ampere Ohm Gray No unit

13 Which ph_ﬂ‘[bn of light has least energy!! Red Yellow Blue Green

14 | The rest mass of photon is! 9.1x10 " kg | 1.67x10% kg Zero Infinity

15 | X - ravs are: High cncrgj’ High energy | Hi ghenergy | High energy

electrons neutrons protons photons
16 [ Ileat produced duc to fission reaction 3007 C 000" ¢ 1100°C 1300°C
taking place in the core of Nuclear reactor -
iz ahoul:
17 Subatomic particles are divided into:

Bix groups

Five groups

Four groups

20(0h)) K )-2023(1%-A)-20000 (MULTAN)
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Paper Code I 2023 (1¥-A) ) | T .
PR N T ]
: TIRMEIDIATE P - 5 Roll No:
Number: 4474 I_NTFRW DIATE PART-II (12™ Class) oll No: _
PHYSICS PAPER-II GROUP-11
TIME ALLOWED: 20 Minutes OBJECTIVE MAXIMIUM I"HIARKS 17
().No.1 | You have four choices for each ohjcetive type question as A, B, € and D. The choice which vou think
is correct, fill that bubble in front of that question number, on bubble sheet. L se marker or pen to
fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question,
Sk QUESTIONS A B | cC D
1 | Athigh frequency, RLC semnes circut Pure ‘ [Pure
shows the behaviour as: R - Leireuil | inductive | R—=C circuit | capacitive
cireuit gireuit
2 I-Iigh lemnperalure super conductors have a 52K TIK 125K 163K
critical temperature greater than:
3 | In, Op-amp as a comparator, when ¢ = J ¥, =+ o V==
then at the output we get:
4 | The Sl unit of current gain are; Anipere No unil
5 | Which photon of light has least energy? Red CGreen
6 The rest mass of photon is: Infinity
T X —rays are: [Tigh energy ergy | High energy
neutrons 3% photons |
& | Heat produced due to fission reao Qone T lEUﬂ‘_f’
taking place in the core of Nuglea
is about: ;
9 | Subatomic particlegiggegivided into I'our groups | Throe groups
10 [ 17 a positive e particle of mass. " & i
is projectedfiard cl to umf gmE o
11 gctad in serjes
e 2mb. The tim 6 sec 1.33 sec
12 | I no fourth band is present on a carbe .:; = 20% +10% + 3% 0%
resistor then 1s tolerane .j _;;, “LLr:u
G
13 Todisplay the given mltage Aot Y —axis | X - plulﬁ::i ¥ —_pldLLb Cathode ol | Anodes ol
on C.R.O, LonndLIEd tr il of C.R,O. of C.R.O, C.R.O, C.R.O,
14 I we want to increase the measuring range
of voltmeter, the series high resistance Inereased Dcercascd Kopt Zero
value should be: constant
15 | The direction of induced current in a cireuil | Ohm's law "F_ir.r;du}-"'s (rauss's law | Lenz's law
| iz determined by: law
16 | For r-,lfﬂtnaling current in a circuit, the Thermistor  Resistor “Capacitnr Recrifier
inductor behaves like:
17 | Metal detectors consist of: E=g | RaL RLC series | 1. —C gircuit
circuit circut

20(0h])( e W -2023(17-A)-20000 (MULTAN)
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' Paper Code 2023 (1%-A) :
- T h e -
Number: 4476 INTERMEDIATE P;‘iRl-[lEl-z Class) | Roll No:
PHYSICS PAPER-I1I] GROLUP-1

‘TIME ALLOWED: 20 Minutes " OBJECTIVE | MAXIMUM MARKS: 17

Q.Nu.l You have four choices for each objective type question as A, B, C and D. The choice which vou think
is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen to
| fill the bubbles. Culling or lilling two or more bubbles will result in zero mark in that question.

S# | QUESTIONS A B e 1 D
1 | For alternating current in a circuit, the T'hermistor Resistor ‘ Capacitor Rectifier
inductor behaves like:
2 | Metal detectors consist ol R-C R-L RLC serics | L — C circuit
cireuit cireuit cirguit
3 | ALhigh frequency, RIC series circuil Pure
shows the behaviour as: R —L cireuit R - Ceircuit | capacitive
cireuit
4 | High temperature super conduciors have a 52K 125K 163K
critical temperature greater than:
5 | In, Op-amp as a comparator, when V> ¥ V.=+F L.. V, ==V P, =
then at the oulpul we gel: i o _
I _ 3
6 | The ST umt of current gain are: BCIC Ohm eeliEay Mo unit
. , :
7 Which photon of light has least e Yellow Green
2
&  The rest mass of photan is 1.67% 0% ke | Zerd Infinmity
8 X rays are High energu | I—hgh enc*‘gﬂ I-—-ﬂé_h f&ﬁuéﬁ
protons photons
10 Heat prode e | 100c
taking placeigs
is about; '
1T Subatomic parfig Five groups | Tour groups | Three groups
|
12 [fapositive charrtdipa 4E E |
| 1% projectac paﬂlle 0 U"lltDrm f.’lLLLTlL s gmi. ym
field &, The acceleration ¢ of the particlg .
| 13 A 3KQ resistor is connetigds _ _
| a capacitor of capacitance 2ml: 1 see 5 sec 6 sec 1.33 seu
comstant for eapacitor is:
| 14 IIno fourth band is present on a carbon + 20% +10% 50 0%
resiator Lthen its tolerance will taken:
15 | I'o display the given voltage along ¥ —axis | X — plates | ¥ —plates | Cathode of | Anodesof
on C.R.O, conneeted (o1t of CR.O. of C.R.O, R, C.R.O.
16 | [ we want to increase the measuring range
| of voltmeter, the series high resistance Inereased | Decrcased Kept Zeriy
villue should be: constant
17 | The direction of induced current in a circuit | Ohm's law Faradav's | Guauss’s law | Lenz’s law
is deterrnined by: law

20(0bj)( e Y W)-2023(1"-4)-20000 (MULTAN)
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| Paper Code 2023 (17-A)
Number: 4478 INTERMEDIATE PART-IT {Il“' Class) Roll No:
"PHYSICS  PAPER-II m_{gl_}élﬁ"' | B
TIME ALLOWED: 20 Minutes | OBJECTIVE  MAXIMUM MARKS: 17

(3.No.1 You have four choices for each objective type question as A, B, C and D. The choice which you think |
is correct, fill that bubble in front of that question num ber, on bubble sheet. Use marker or pen to
lill the bubbles. Cutling or filling two or more bubbles will result in zero mark in that guestion.

8.4 | QUESTIONS A B | C D

1 | To display the given voltage along ¥ —axis | Y —plates V' —plates | Cathode of | Anodes of
on CLRLO, connected o it ol TR0, ol CUR.OL C.R.O. C.R.O.

2 I we want to increase the measuring range - T o
of voltmetar, the series high resistance Inercased | Deercased Kept Leto
value should be: constant

3 The dircction of induced current in a cireuit | Ohm's law Gauss’s law  Lenz's law
is cetermined by:

4 | For alternaling current in a circuit, the Thermistor Capacizor Rectifier

- inductor behaves like:
5 | Metal detectors consist of: R-C . 2 RLC series L — C circuit

]

cireuit 45 i, circuil
G
6| At high Irequency, RLC series circul : Pure
shows the behaviour as: inductive “Egircuit | capacitive
cireuit : circuit
: - :‘- : ..". 5 -} ST
7 | High temperature super conductcy 77K 125'?? 163K
critical lemperature gregter than: *
8 | In, Op-amp as a cof A L3 Kom— V, =%
then at the oulpeE e S e
9 ; %hm Gray No unit
' a1 .
10 2 Yellow Blue  Green
A
1 1675107 ky Zera Infinity
12 | X — rays are; High energy | High energy ' High energy  High energv
! electrons neatrony protons photons
13 HCEIHI Pmduce_d due 1o fisciop TeHesi 500° ¢ 900" ¢ 100° ¢ 13007 C
taking place in the core of Nuclear reactor
1s about:
14 | Subatomic particles arc divided into: Six groups  Five groups | Four groups | Three groups
153 | Il a positive charged particle of mass "m" Gl I
15 projected paralle] to uniform clectrie Z £ :
prel F L i . ymE g

field £, The acceleration of the particle is:

16 | A 3KQ resislor is connected in series with
a capacitor of capacitance 2mF. The time 1 sec 3 see 6 sec 1.33 sec
constlant for capacitor 1y

17 [ 1f no fourth band is present on a carhon + 20%; +10%% =5% 0%
resistor then its tolerance will taken:

2000b7) (Ve Y e W 1-2023(1°4-4)-20000 (MULTAN) '



